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INSTRUCTIONS TO CANDIDATES

You showld hove e following for this exdamination:

Arnswer bookler:

Exrowing (nsirinenis;

Mathematical iables!Non-programmable scientific calenlafor.
This paper conststy EIGHT questions,
Amswer ary FIVE guestions.
All guestions carry equal marks.
Meximum marks for each part of a guestion are a8 ndicated.
Candidaies should answer the guestions in English.

This paper consists of 4 printed pages.

Candidates should check the question paper to ascertain that all the
pages are printed as indicated and that no questions are missing.
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Express the equation of the parabola 4 — 8~ 4r in polar form, {5 k)
Solve the eguanon 47 47" 5 = 0 coimect to three decimal places, (7 maarks)

Fhree coments £, [ and L in amperes Howing in a0 electric cirouit satisfy the
simitltanesus cquations: :fé'| L T J:|._| -4
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Lise the method of elimination todetermine the valies of the currents; {8 marks)

simmplify the expressions:

L (-
h} .I T_l' [_.. : £:I
Bt
L a5 log 26+ log 623
(11} : = l (T marks)
lop 3125 .,.lﬁ'?:'r
Sobve the equations:
(1) 1320125 )= 16, comect f3four decimal places:
{11} ko 2 —lopar —={i {13 marks)
Criven the functions o) = 9 and gtz )=2+2 . determine:
Gy el
(i b9y {6 marks)
By expressing sinh “r in logarithmic form, determine the value of sinh (0.2},
(7 mark=)
salve the equation dcoshr —sinh 2 — 4 correct 10 three decimals places,
{7 marks)

Five components are to be chosen from 7 resistors and 6 diodes. Determine the number
of ways in which the components can be selected so that there are at least 3 resistors in
the choice. (> marks)
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21 and determine its value
5 marks)

Find the torm in = m the binomial expansion of { &r
| :
when &= (] + COrrect ko three decioml places.

i1} L'se the hinomial theorem o expand { ll : fr }1 up to the term in = .
. e i (L o’
iy Henee evaluate | 5 :l Lcorrect to three decimal places. {10 marks)

Dafferentiate flrl= E;" trom fisst princples, (5 prks)

L S TEL T ST e
Given that === y . show that -é-g:"-+ i l_-,;--;lll" : (fr marks)

Locate the statiomary points of the function 5 =" — 92" — 4" and determine their

Co (0 ks
Given that sind = ! and cosh FI:J where A and 3 are acute angles, determine the
galues of: e B § ; %b teg '_%-_{

g i - =
oy ypad -]I-{If:f-?j-'}m 2 3 s Satie glrI'fE"

_I:[. s 2 Cochtocfle ik OB e
il ol = X E & : E
(i) eot 28 [?'3.— tﬂ\ﬁ e "*J 7 [ iarks}

Sulve the cquation 3vos 2t —sind + 2 =0, for vilues of ¢ between (1% w0 368°
mclusive. (7 marks)

The angle of depression of a shipaiewed from the top of a 65 metre vertical cliff is

_,-'—'___'- = 5 . e - d
pos & 0 I'.I 227 Tfihe ship sads away frvenethe clitt a distance o metres, the angle of depression
from the top of the cliff igAT | Duturmin::r the distance . {7 marks)
! ! - s
g.;_.iaﬁ.;.: Tl | { .I__ﬂ, 3 -
: T (= Evaluate the mierarals: £ I:é} L"T r _J 11 T f Ei_
“ oL
- 3 ; | f-R5c fax 452
B [ Loct o el
i e R o [-2xtzore
il | atsinrde (hoz) -2 |~ =D
=] __,_,_o—-—'—"—
..... Ty Hbax) taxli-ax) t-zact 22 lx—s
[} |r e T (12 marks)
L o i 1= - 3.1
ih) Sketch the region boumded by the curve = o — 2 and the line g =—1 — 5r and use
miegration to deteroine 115 value, (% marks)
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ﬁ (&) Given the complex numbers = — 2 7 and ===y, determine <= expressing the s

|

answer in exponential form. {6 marks

(h)  Tise Debloivie s theorenr to show that sin™f =- JE—]’ sin 58 —bain 3+ 10sin# ).
{6 marks)
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If =z =x jy , determine the equation of the Tocus defined by ‘-T.-'.‘{
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